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(i)

(ii)

(iii)

(iv)

(v)

(vi)

General Instructions :

This part has 40 questions in all.

All questions are compulsory.

Questions from serial no. 1 to 18 are Multiple Choice Questions carrying
1 mark each. These are to be answered by writing the correct option in
your answer-book.

Questions from serial no. 19 to 34 carry 3 marks each. Answers to such
questions should not exceed 70 words.

Questions from serial no. 35 to 40 carry 4 marks each. Answers to such
questions should not exceed 150 words.

Attempt all parts of a question together.

H A1 i &1 AR fre T R 2 1
(A) B % T 3o

(B) TR d% A% 3fug

(€) Tiwd e i sfogan

(D) I |t H

The authority to issue currency notes rests with

(A) Central Bank of India

(B) State Bank of India

(C) Reserve Bank of India

(D) All the above
Frafai 59 f18 Te §9 8 T = @ 1
a)

(B) I & HTeiehi &

© % % sfwaiie @
(D) 3Ivdw § ¥ foreht @
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Companies receive public deposits directly from
(A)  The public

(B)  The directors of the company

(C)  The shareholders of the company

(D) None of the above

fr=ferfiaa § @ dieferediA fag a1 2 2
(A) &% ¥ B: TER B W

(B) o & farfeA

(C) o srfufaewd

(D) g SHT

Which of the following is a long term finance ?
(A) Loan from Bank for 6 months

(B) Issue of shares

(C) Bank overdraft

(D) Cash credit

freafafiga d @ S9-a @fra =19 78 2 2

(A) w9 I
(B) 3w fofma
(C) = e
(D) SfquTia o=

Which of the following is not an owned fund ?
(A) Bonus shares

(B) Issue shares

(C) Issue of Debentures

(D) Retained earning
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FgEt 1 e faxdfe 9a 2

(A)
(B)
©
D)

Issue of debenture is a source of finance for

(A)

(B)

©)
(D)

Frerferfies § @ e o STl Fa W 78 2 2

(A)
B)
(o))
(D)

Which is not the internal source of finance among the following ?

(A)
B)
©

(D) Ploughing back to Capitél
frafefaa § @ fam &1 ddeweiv diq FH-a 77 2

(A)
(B)
©)
(D)

st difte st =
s ot Frot
BIECRUR T

weeT At w1

Private Limited Company
Joint Stock Company

Partnership Firm

Co-operative Societies

gfeaia

atfeR 3w w1 frfe

o-¢gh 9T R0

gSht § qAfafaieH

Retained Earning

Issue of Preference Shares

Loan on Mortgage

vergfa (<ifsm) fam
EEEREUtC

T O
% | w0

P.T.O.
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Which of the following is rot a source of long term finznce

(A)
(B)
(©)
(D)

Leasing Finance
Issue of Debentures
Cash credit

Loan from Bank

A¥TT TR ET T qAT O 1 HA-FIHT B R, HEei &

(A)  PIHETNR

(B) % WS

(C) Thy fquft (I I9R)

(D) 49 9

A market where shares and debentures are purchased and sold is called
(A) Retail Market

(B) Wholesale Market

(C) Stock Exchange

(D) Commodity Market

s ot dhfim e G T R w2

(A) A H W el gr

(B) =uga fri g

(©) Tod 9% § = A

(D) 3 HGHl & AfreM g

A Private Limited Company can collect its capital through
(A) Issue of shares to the public

(B) Issue of debentures

(C) Loan from Reserve Bank

(D)  Subscriptions made by its members




(A)
(B)
©)
(D)

A)
(B)
©)
(D)

A)
(B)
©
(D)

(A)
(B)
(®)
(D)

e 1 wiepla I STavEEHdl Bl 8

Jeh <hl gum A
fafrrras 6 g
ges-u= <Y g9 °
RSk

Acceptance of the debtor is required in case of

Cheque

Bills of exchange
Promissory Note
Hundi

11. I & H @t I 9T 98 @Il @ S e $l AU @A Tk 9R A
Ity & fow son & aen witgeean it fofyr @ aww Fevem & gl vem
ETGIR

I9d @ral
Tl @ra
TRt ST @
91 @rdl

It is that account opened with a- Bank which provides to the customer the
facility to deposit his/her money once for a fixed period and withdraw
only on maturity

Savings Bank A/c
Recurring A/c
Fixed deposit A/c
Current A/c

P.T.0.
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13.

14.

35

T % A 1 9™, 2013 S Foffig fear mn, e w1 v, 2013 6 aife
foreh g 3, @ =

(A) I qiE w6

B) 9B f aiiE = 9%

() fopa ==
(D) g frn-fie <@

A cheque issued on 15¢ March, 2013 and bears a date of 15 August, 2013
is called

(A) Ante dated cheque

(B) Post dated cheque

(C) Mutilated cheque

(D) Stale cheque

fr=fafied § @ & oty 3% +1 fidas s& sH-ar g 2
(A) THT T&hR HEAT

(B) Tt wH
©) fafmaoE H 98 w g
(D) T

Which of the following is a secondary function of a Commercial Bank ?
(A)  Accepting deposits

(B) Agency work

(C) Discounting Bills of Exchange

(D) Granting Loans

St S % I Raghl W Tgd FW G HI T BT 8, FEAT
(A) dTEH AH

(B) fapd 9=
(C) 3TRW =%
(D) YQifehd I

A cheque which is payable to a person who presents at the counter of the
Bank for payment, is called

(A) Bearer cheque

(B) Mutilated cheque

(C) Order cheque

(D)  Crossed cheque




qepl GRT ST T W HAfeehan 419 €L 24 9T @l & 1
(A) ==d @l

B) fepftr @@
(C)  Hedt ST @rdl
(D) TS @rdl

The account in which Banks allow interest at highest rate on deposits is
(A) Savings A/c '
(B) Recurring A/c

(C) Fixed deposit A/c

(D) Current Alc

TTEH! g S B FYAT FHT A & fore s § o areht o= %1 9 ? 1
@A) g e

(B) 5 i o=

(C) uwdmm.

(D) =% (°ew)

A leaf by which the customers deposit their money in Bank is called
(A) Withdrawal Form
(B) Payinslip

(C) ATM

(D) Cheque

fr=fafigs § @ F9-91 96 A9 S 757 8 ? . 1
(A) U9 ATEA S

(B) IFEA §& 31T 3foem

) fod d% 115 3foemn

D) W TH

Which of the following banks is not a Commercial Bank ?
(A) Punjab National Bank

(B) Union Bank of India

(C) Reserve Bank of India

(D) Canara Bank

9 PT1O.
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19.

20.

21.

22.

23.

35

¥ i ge@ e feufa et 2

(A) 9°F 9%

(B) had WTHal & @Id |

(C) TEEAGWUI haed JTHHhAl & @Id
(D) TEifhd 9%

Safest form of a cheque is

(A) Bearer cheque

(B) Al/c Payee only

(C) Not negotiable, A/c Payee only
(D) Crossed cheque

Th G ! WA (FAfeT) Yot s Fuiim w0 e hdl dF gewi @i
Gferm ® =men i |

Explain in brief any three factors determining the floating capital of a
business.

T Yoft ao T Td goft & " g a9 ST Sasy |

Give any three differences between loan capital and owned capital.

gt ot ufniya AT qon THar o H R @ Rrdiwareit & s
Hife |

Define shares and explain any two characteristics of Equity Shares.

HOGH R 8 ? GU&T RO q91 TG FOdE % " HIE q F=R a5 |

What is debenture ? State any two differences between secured
debentures and unsecured debentures. ;

@y fauftr (I sen) 6t w6l & 6= d7 fogeni i dfgw 4 =aren
FifST |

Explain in brief any three points of nature of Stock Exchange.

10




25.

26.

27.

28.

29.

30.

31.

32.

o3ft S qun frenfies fawm 9% % 31df gz |

Explain the meaning of Indigenous Bank and Industrial Development
Bank.

STTEIF dehl & feheg] o1 ALV ! GHATT |

Explain any three features of the Commercial Banks.

SEfarehed FHT @Il F 1 2 ? Fgfahed @Id 1 Hi3 TR fRvand qaqmsy |
What is multiple option Deposit Account? Give its any four
characteristics.

A H SR Sehl o JhR Fa1ST |
State the types of Banks working in India.

fordi 1 afSfa aruan faftg ferarett =1 gmEmst e fwer figd d% afe
gfogan 481 L Tahel |

Explain any three prohibited or forbidden activities which cannot be
performed by the Reserve Bank of India.

iee HIE & A Td ITAM 1 FHATIT |

Explain the meaning and use of Credit Card.

w fafma-as & frega 7 @ w0 o g R 2 o fafe e & foepa B9
W o IRt (@) gRI 33TT T TEWE HeH| ohi SATEAT hITT |

What is meant by dishonouring of a bill of exchange ? What are the
possible steps which can be taken by a drawer in case of a dishonoured

bill of exchange ?

6 gHe T R 2 TH A% H e §6 g g AT Y PTaE H I9H H#

U ST 8 ? 99T |
What is Bank draft ? Why does the payment made by a Bank draft is
considered better than the payment made by a cheque ? Explain.

fafrmaas @ R 2 faffmaoas 6 foredl e faeaneti =6t s |
What is a Bill of Exchange ? State any four characteristics of a Bill of
Exchange.

11 P.T.O




33.

34.

35.

36.

37.

38.

39.

40.

35

FTH 61 IR GRT | T S F 9 T F IS S I T |

Define endorsement. Give any two examples of endorsement of a cheque.

-9 a1 §USt H HIg 1 =R TSy |

Give any three differences between Hundi and a Promissory Note.

d% # ua Tt faftrnt @ S fopan s gt & o forat faftrt & fseren o
GehdT 8 ? EART |

In how many ways can money be deposited in a bank and how can it be
withdrawn in each case ? Explain.

frafafga 6t =men $if .
() —weEard fow

(i) HIAIER 9

Gii) fore 1 HIAA W FAMT
(iv) AFe foam

Explain the following :

i) Accommodation Bill

(ii) Holder for value

(iii) Discounting a Bill

(iv) Days of grace

HHAT 379 % $I3 I Y GHSATST |

Explain any four limitations of Equity Shares.
YaifrR 39 & IR S H FuesT |

Explain four classifications of Preference Shares.

IR 91E T 8 ? YR GG & HiS o7 S0 GHIAET |
What is Trade Credit ? Explain any three features of Trade Credit. :
TFR 999 a9 Qa1 1 81 8 ? TF SHeR § 994 9 @Ia1 @iad 1 i

CLLEE
What is Post Office Savings Bank Account ? State the procedure of
opening Savings Bank Account in a Post Office.

12



(ii) TEETAT AUT AGTHT & a7

(ii) Elements of Book-Keeping and Accountancy

Wﬁiﬂ:

(i)
(ii)
(iit)

(iv)

$F YT H FT 36 FHT 8 |
@t 37 T §

Y-GEqT 1 & 18 T% Fglasediq 397 & 9 I9% Tk 3% H1 & | 7T T
eyl 4 @ T&l fawey &1 ITR-giaiwr 7 @ & |

TF J97 & TY 5T Uk Grg & FH 8 /

General Instructions :

(i)
(i1)
(iii)

(iv)

35

This part has 36 questions in all.
All questions are compulsory.

Questions from serial no. 1 to 18 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book.

Attempt all parts of a question together.

e Tty w et (Ree) & gt 8 76 1
(A) fafmaas =1 gram afeaa f6fy @ gge 8 =

B) Tafmagx &1 gram wResaar fafy & g gen

(C) fafma-g forepa & ma

(D) 394w | & F1 A&

Availing of the rebate on a bill shows that

(A) the bill has been paid before the date of maturity
(B) the bill has been paid after the date of maturity
(C)  the bill has been dishonoured

(D) None of the above

13 P10




2. o faw & m et @
(A)  Er-EE

(B)  TSHTH=T I

(C) d9e =1

(D) UHg =& I

Bills Payable Book is a part of
(A) Ledger

(B) Journal
(C) Trial Balance
(D) Cash Book

3. fafmauy wfier e Id 8

(A) TER grI
(B) o gmI

(C) TR g\
(D) S=EEHdAl g

Bills of Exchange are accepted by
(A) Creditor

(B) Bank

(C) Debtor

(D) Endorser

4. 9 fofraar &t yom ofy @ @ 9dd ® amE e S g, @ yaE

UTHhd! ! gl H @Tai o 8 feRan Stram 8

(A) wH faus @

(B) g WIAT T Uerdt @

(C) had THg @l
(D) had §gl @Il :

While retiring a bill under rebate the accounts to be debited in the books
of payee are

(A) Bills Receivable A/c

(B) Cash A/c and Rebate A/c

(C) Only Cash Alc

(D)  Only Discount A/c

35 14
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W€ 9z W YR gQ fafaos w1 fwsn @ 9 g, d S A g § W

G for@n At 8 1
(A) werepdl @ *

(B) <@ @l %

(C) ¥ fous @t %

(D) oA fowx @ &

When a discounted Bill is dishonoured, the A/c to be debited on Bank’s
book is called

(A) Drawee’s Alc

(B) Drawer’s A/c

(C) Bills Receivable A/c
(D) Bills Payable A/c

& foa W wifa it fafy 1 s9ad, 2012 2 | foa 3 #8@ &t @ty & fo
? | yae fafyr geft | 1

A) 13184, 2012
(B) 2 3, 2012
(C) 3314, 2012
(D) 4 ¥4, 2012

The date of acceptance on a bill is 15¢ January, 2012. The bill is for a
period of 3 months. The date of maturity will be

A) 1%t April, 2012
@) 2" April, 2012
() 3™ April, 2012
(D) 4™ April, 2012

15 P.J1.0.
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e fafas # g 9w 9@ 9 9 B 8

(A) T

(B) o um

(C) TR U

(D) T & =S T

A Bill of Exchange generally has
(A) Two Parties

(B) Three Parties

(C) Four Parties

(D) None of them

¥ 3,000 Ie % HIS 1 ITNT WH o T8 3940 6 A 7918 TS T qER A

g3, A ¥ foran S =Ry
(A) FHR @

(B) Yfdehatl @rat

(C) I @ral

(D) @t =1 e @

Goods worth ¥ 3,000 were used in making an asset for domestic use of
the Proprietor, should be debited to

(A) Asset Alc

(B) Supplier’s A/c

(C)  Purchase Alc

(D)  Proprietor’s Personal Account

I9fd Qa1 1 I qo9e d |1 I fewen @ 7, forer smen
a) feufa faator i grafe &

B) Teufa faao i Terfat 4

(C) WY @Id & |1 §

(D) 9w A ¥ wE T8

Suspense A/c shown in the Trial Balance as Credit Balance will be
entered on the

(A)  Assets side of the Balance Sheet

(B) Liabilities side of the Balance Sheet
(C) Profit and Loss A/c credit side

(D) None of the above

16




11.

12.

Teh QU T o hrETehed (U F0Ha) =99 &l AW 5 fown S =i 1
(A) TOHG @@ §

(B) UyfH @<
(C) uftes & =ufwg @d |
(D) 39 H ¥ IS T

Overhauling charges of an old Machine should be debited to
(A) Repairs Alc

(B) Machinery A/c

(C) Personal A/c of the labourer

(D) None of the above

T GUAT TSR S T H 3940 g8 o, o= 1 g | Wrar S|l gnen 1
(A) @
(B) St @
(C) fasha @rar

(D) IRUUSX @rdt

Sale of an old Typewriter that has been used in the office, should be
credited to

(A) Purchases A/c

(B) Capital Alc

(C) Sales Alc

(D) Typewriter Alc

T fashaehal o FfiTE F FTH T 5ooww,w%wﬁmm@%%mﬁﬁ

o man | aryfg & guw it gfafy & s foman s =R 1
(A) UhsEQH
(B) <hHIIH @d |

(C) fasraspat & =aftrma @d &

D) 3w § @ R T

Commission to a salesman paid ¥ 500 was debited to Salesman’s
personal A/c. In rectifying entry the account to be credited should be ‘
(A) CashAl :

(B) Commission A/c

(C) Salesman’s personal A/c

(D) None of the above

PTO
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13. 37 99El F@ &1 AF T 2,000 ARYS T T | YR TEE = FT I9EH @A
q
(A) S ET T 2,000
(B) ™ BFT T 2,000
(C) 1 &M T 4,000
(D) FM BT T 4,000
Purchase Returns Book was over cash by ¥ 2,000. In rectifying entry the
Purchase Return Account will be
(A) Credited by T 2,000
(B) Debited by ¥ 2,000
(C) Credited by ¥ 4,000
(D) Debited by ¥ 4,000

14. I il % Av=Eierd 2 %1 RO Bl 2
(A) @il 1 sifoes ST a1 gE-Ee
(B) gt % SR qod § fimree
(C) EﬁT GTEIW
(D) TIEHE I fag
Obsolescence arises in fixed assets due to
(A) Physical Tear and wear of the Assets
(B) Fall in market value of an Assets

(C) Fall in the value of money
(D) Sale of business

15, TRl W B w12 i ued feva w2 § v 5 af

(A) ufd a9 sedt 2

B) ufq a9 gedt 2

©) ufy 3y wurh w2
(D) T ¥ HIE TR

Under diminishing balance method of charging depreciation on assets the
amount of depreciation

(A) Increases every year

(B) Decreases every year

(C) Remains constant every year
(D) None of these

35 18




Tt fopva ugfa § geaf w g < ufst it moEr i Il B, 9 % 918 1

(A) TUE =Y

(B) 313N A

(C) 3 W fean ma wHHiw

(D) ¥ ¥ HE T

Under Fixed Instalment method depreciation is calculated on the Asset
after deducting the

(A) Installation charges

(B)  Scrap value

(C) Commission paid on purchases

(D)  None of these

17. Th A3 1 SHadl, 2011 & T 10,000 H T il T8 SEH @99 oo
T 1,000 91 39 Sfiaqted 5 99 o1 | HIE @ § 01-01-2013 I I

& 1
(A) T 8,200
(B) < 8,000
(C) T 10,000
(D) T6,400
A Machine which was purchased on 15 January, 2011 for ¥ 10,000. Its
scrap value was ¥ 1,000 and useful life was 5 years. The balance in
Machinery A/c on 01-01-2013 will be
(A) T 8,200
(B) < 8,000
(C) ¥ 10,000
(D) <6,400
35 19 PG
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18.

19.

20.

21.

35

T % fosha | g¢ o i TamT=aRG TR ST 8

(A) T @ |
(B) <TH-EIH @rd A
(C) BEEEQH

(D) T=EEWEA

Profit on sale of Machinery is transferred to
(A) Machinery A/c

(B)  Profit and Loss A/c

(C) Depreciation A/c

(D) Reserve Alc

T SfaT-o ® 9T AW 9Tt e % T Sh1s 99 I aigd auEsy |

Name and explain with example the parties of a Promissory Note.

Frafafaa gemeti 4w s g fae i 1ot qeaeht § @R st gfafdat

ST STt ?

() ofigeEar iy % foa & 9 98 @1 S g 99 999 | TaE 9"
L foran sman 2

(i) 9 ¥ ¥ §g W 5 &1 g1 o= Sar 7

(i) OReaa Ry 7% frd F o T W@ S § W 39 TAE T
T g

What Journal Entries will be passed by the drawer of a bill in his books
in the following cases ?

(1) The bill is retained till due date and encashed on maturity
(ii)  The bill is discounted with his Bank
(iii) The bill is retained till due date but its payment is not received

frafafed & T oes i gl | 3Tavas UsHme=n Saredr Hi
e i Mfemg & fow € 5,000 i @isfa FSmehl gram fafy s off, ==
6% Yk 1 T & TS TR 3 HIE & T7Q Tt L fem mm |

Pass necessary Journal entries in the books of the Drawer for the

following :
Rakesh’s acceptance to Govind for ¥ 5,000 due today was renewed along
with interest @ 6% per annum for 3 months.

20




gfaqes s1gfgdi 1 ardf Twemse | U owfedl & +1E @ g §f |

Explain the meaning of compensating errors. Give any two examples of
such errors.

et foredl <fiF sryrfga & Serew €t < aetue d9R @ @ ot wma 7 @

Give three examples of any such errors which are not located by the
preparation of Trial Balance.

B1E, Thietor gt qftenem & 339 et afga s |

Explain the meaning of Depreciation, Depletion and Amortization with
examples.

el W g™ F1e4 & fohegl &9 ol o g9Ese |

Explain any three advantages of charging depreciation on assets.

B8 i AT i gIfad HE 9 A9 gEhl I sgre i |

Explain three factors affecting the calculation of depreciation.

fafrra-as =0 g ? 2 U fafrraas it fnedl i feasivaneti =6t yeqa i |
What is Bill of Exchange ? Give any three characteristics of a Bill of
Exchange.

fr=fafea & fou sawes Teamen sfafsat ik
() =\ whd * Ta 9v T 5,000 | T @ = 97 |
(i) faf=em w e (Infia) s T 3,000 |

Pass the necessary Journal entries for the following :
(1) Last year the closing stock was under cash by ¥ 5,000.

(ii) Interest accrued on Investments is T 3,000.

frfofaa smfedl 1 gar i R 7@ dome TR FE@ 3w @ 9

TR

() T 8,000 F Wt & ARk fiur fiftem gram 1 @@ fim @ |
feram | |

(i) F 9E I I8 F&AT 22 FH AM T 3,520 % TH W T 3,250 3T U8
W for@n m | :

(iii) wa= Fmfor i g yE T 20,000 FEEH @@ % W @ T |

(iv) Tesra o€ 1 9 T 1,20,000 % TIE W T 3,20,000 fe@mn m |

21 P10,
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30.

31.

32.

33.

34.

35

Rectify the following errors which have been detected before the
preparation of Trial Balance :

1) ¥ 8,000 paid for proprietor’s personal insurance were wrongly
debited to Insurance A/c.

(ii)  Purchases book total on page 22 ¥ 3,520 was carried forward to
next page as ¥ 3,250.

(iii) Wages paid for construction of building was debited to Wages A/c
as ¥ 20,000.

(iv) Total of sales book was shown as ¥ 3,20,000 instead of ¥ 1,20,000.

Suf< @rar 1 w1 e g1 R ? 98 Fe Wiell AT 2 ? IUYw I afga

HHATRT |
What is meant by Suspense Account ? When is it opened ? Explain with
suitable examples.

e fopedi W STyfigdl ) WSSy S ae9e % HFgEY I Tl Hl € |

Explain any four such errors which affect the agreement of Trial Balance.

TR Gl W g™ S 94 1 TS fohva ggfa qen wedt fopva ugfa d =18

IR A~ dd15¢ |
Give any four differences between straight line method and written down
value method of charging depreciation on Fixed Assets.

sfo-aa a1 fafma-aa § =g i do1 T giasn-om &1 T G |

Distinguish between a Promissory Note and a Bill of Exchange and give
specimen of a Promissory Note.

FFT I WA | TH foa@ 3 wgR A @iy w1 T 5,000 F R | v @
iehfd I A W & 7 38 foad 1 =61 % T s=E e | e fafy

W foa g B T SR Fq A T 50 AT T % Y | e, Wren aon

I <l TRl B ITATH oA o fore s sfatdat i |

Akshay draws a bill of ¥ 5,000 on Bhawna for 3 months. On getting
Bhawna’s acceptance, he endorses it to Chetna. On due date (maturity)
the bill is dishonoured, noting charges ¥ 50 were paid by Chetna. Pass
journal entries in the books of Akshay, Bhawna and Chetna for the above
transactions.
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35.

36.

35

freferfea srgfgat & gum & fog s9f= @4 61 wgEar § aeas Tavas
Trome=n gfafeat hife

()  fosra o€ 1 97 T 2,000 AfeH TR T |

(i) WM ® T 550 IUR fIsha 1 @1 39 @ H T 5,500 F TR |
(it) 3T §& % A H T 8,800 31feek for@ M |

(iv) F% IT9El SE &1 AN T 1,120 % T W T 1,220 for@n T |

For the rectification of the following errors with the help of the Suspense
A/c pass necessary Journal entries :

(1) Total of the sales book was over cash by T 2,000.
(i1) = Credit sale of ¥ 550 to Manvi was posted in her A/c as T 5,500.
(iii) Total of Purchase Book was over cash by T 8,800.

(iv) The total of Purchase Returns Book was carried forward as
¥ 1,220 instead of ¥ 1,120.

1 379, 2010 s T IR 1 T T 1,80,000 T FoRIT T | B 10% aTfih

H T F Tl fhva ughd & T ST B | 1 9o, 2012 1 HEAR

%W?BS,OOOﬁﬁHﬁ?}TWI 2010 ¥ 2012 d% 1 TN @1 SRR

Hifvre, Ife 7% a¢ 31 fegrat 1 @ 5= g 91 2 |

A Machinery was purchased for ¥ 1,80,000 on 15 April, 2010.
Depreciation was charged annually @10% per annum on diminishing
balance method. i—th of this Machinery was sold for ¥ 36,000 on 15¢ July,
2012. Prepare Machinery A/c from 2010 to 2012 if the books are closed on

315t December every year.
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(iii) T=or (Fagra) srosh/E=h

(iii) Typewriting (Theory) English/Hindi

T (3397 :

(i) STYTHFAI5 F7 8 |

(i) @ IvT AT E

(iii) ¥o7-GCF1 8 6 T% % F97 a5d DI I Tt & K Jed 97 1 3% F1 8 |

(iv) Io7-G&IT7 & 12 7F J9% J97 2 3F] F1 & | 379 I/ DI 517 T IR
60 ez Fia 597 & 37fes & 787 814 T80 |

(v) ¥IH-GEIT13 T 15 TF J9% Jo7 4 3F] #7 & | 37 J%1 & I 120 95! &
371e% 781 &4 T |

General Instructions :
(1) This part has 15 questions in all.
(it)  All questions are compulsory.

(iit)  Questions from serial no. 1 to 6 are very short answer questions and each
question carry 1 mark.

(iv) Questions from serial no. 7 to 12 carry 2 marks each. Answer of these
- questions should be short answer type and should not exceed 60 words.

(v)  Questions from serial no. 13 to 15 carry 4 marks each. Answers to such
questions should not exceed 120 words.

1. fm= % foufiaE aidse gae 1
(1) Sl Hl R () IR HU
(i) ST~ I gea (da) =0
Give keyboard shortcuts for the following :
(i) Copy the document
(i)  Save the document
2. Us WsHic® Al:C3 I # forat (dferat) sift 2 ‘ 1

How many rows will be there in the range Al : C3 in a spreadsheet ?

8.  <ruusfen # wfa &t MM A & foIT ferad wiew 40 wsg o SIS B 2 1

How many strokes will be equal to 40 words for the purpose of calculating
the speed in typewriting ?
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10.

13.

14.

35

e TTfd W 1S9 N FHY WHEG: 6 S arell S IR SEIgal §arsy |

Mention any four errors generally committed while typing at a high

speed.

T 3R H Al ° TH (Esien) di ufa oo wH Tty
HHART |

Explain with the help of an example the method of calculating the
typewriting speed.

Th % ek H 1 [ o AT BT =116 2
What knowledge and ability should a Proof Reader have ?

ffafea 1% T gl 1 T e
@ 4

(i) Stet

(ii1)  trs.

iv) <

Explain the purpose of the following punctuation signs :

a4
(ii) Stet
(111)  trs.
iv) <

TeHfie ¥ T I WHRR STgH< | ST®s] i TTH (STl Hdl) X HH
<1 gfshan g9 |
Explain the process for Copying Data from Spreadsheet into a Word

Processing document.

RIS B i 9 Jgan WTH A o fow = 5k s =nfge 2

What should be done to attain accuracy and speed in typewriting ?
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Type the following incorporating the corrections as indicated

6. (O b gy

Rike 0 tre cnbaret and At Mrare s
dos Rave heo Mot o tme LIBr ool
o, | 6 detetond Aot as (e ki o on]
f;@-i:.\,-LFJ Raz ,{TMWL-., ' '
s Roleaclons %zu—uk [tat e imn a

P [
GponkD o Lrvkent o VK ane  Auffrca o,

— 15
\‘)A-:«M _.‘Sm:'\.J%' . o clezlng Aave Gb&t?‘l.(’cﬂytﬂ—-c{ s

t; h‘g""-‘} Fibiong fam& d 5’6"—*‘5"'1; Ak aLE-a‘-fR /6"1-&1(

2
= e i
P jols  aerel % Prevtl /flﬁm Oy, e e 3f
-0 : s ] // d o

' £ M&t—eh_ e Wbt LUt e o . aywai:‘mgk_
TR, e e SN Deng T
' Prebodid piol e

Mooft o ﬁwﬂz/@, 6’1' /500 Wrkod Rped
o £ & &5 ffr' /)-&e»—:?L W& Roe a'{"q'v\ fnwm LnAE
Ll Yy &) &
br&m\ /{Vf u*-. Lo \:.t?e%/'v’s
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